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CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R AE K | Mo 540 643 #B R 2 3 | - 2,436 -2,730 R A % | Mo 400 —400| #B 4R = % | M- 2,800 2,700
s 540 -643 s 2,436 2,730 £t 400 -400 i 2,800 2,700
HHHa—L 55 -1,171 HHHa—L 2,014 -798 HHa—L 50 -250 HHHa—u 882 -35
Hoo R HEFH ) 17,398 2,594 M1 R | a0 28,905 -4,694 Mo $R | - 19,895 17,795 M1 4R | M- 18,165 2,524
it 17,453 1,423 it 30,919 -5,492 &t 19,945 17,545 it 19,047 2,489
HiHa—p 15,566 -2,116 HHHa—n 150 0 FHHHa—n 20,272 11,375 HHHa-V 150 0
= = M4 ) 51,420 -7.974| & s |mfHa—p 7,014 346 15 7t | oy 27,545 6,566 1§ Rt | MEfHa-V 400 ~900
s 66,986] —10,090 s 7,164 346 £t 47,817 4,809 it 550 -900
%5 FHHa—v 13,616 -2,116] |95 FHHa—v 0 0 0)5) HiHa—n 18,322 11,375 |95 HHHa—L 0 0
& 15) |- 40,456 -4,439 # 13) | a2y 0 0 & 17) |-y 21,345  -7,136 # f3) | MEfEa—py 0 0
&t 54,072 -6,555 &t 0 0 &t 39,667 4,239 it 0 0
AHHHa—y 0 0 HHa—n 0 0 HiHa—n 0 0 Ao 0 0
s ER fEFHa—)) 73 2l 4 R | dmEfHo- 8,311 -257 s R | - 10 0] 4 R |- 3,970 1,670
s 73 2 s 8,311 -257 £t 10 10 i 3,970 1,670
HHa—L 0 -56 HHHa—L 1,281 -73 HHa—L 0 0 HiHa—L 1,358 288
FoHgR | M- 1,340 510 ZF2HigR | MEfHa—- 3,525 -742 FoHgR | M- 2,550 2,320| ZF2MhgR | Moy 2,700 -570
it 1,340 454 it 4,806 -815 &t 2,550 2,320 it 4,058 -282
HiHa—p 896 -133 HHHa—n 328 -189 FHHHa—n 1,160 860 HHHa—n 387 233
544 | -y 670 -130] §4&+4 |-y 4,385 708 & e | EmHa—) 575 35| 1E&H4 | EHa-v 4,600 3,600
24 3 1,566 -263 54 it 4,713 519 G 2t 1,735 825 fa4 it 4,987| 3,833
HHHa—L 0 0 HHHa—v 0 0 HHa—L 0 0 HHa—L 0 0
ERRRE | - 1,861 ~4,585] JEMRHE | EAHa-Y 0 0 BARKE | - 2,450 1,050] BRI | MHa- 0 0
it 1,861 —4,585 it 0 0 &t 2,450 1,050 it 0 0
HiHa—n 0 0 Hia—pn 1,801 1 FHHHa—L 0 0 HHa—n 1,800 0
FESRRIEA 363 | M a— )L 0 —10[ES - FE4 %y MEFHa—1 19,541 -3,357 EIE 2 - GIE 4 3560y fEfH a— )L 0 OFIE - GIE4 353y fiEfHa— )1 20,140 140
it 0 -10 it 21,342 -3,356 gt 0 0 it 21,940 140
Hia—pn 0 0 Hia—pn 0 0 HHHa—n 0 0 FAHa— 0 0
R R MEFH 2y 1,103 416 £ £ | EHa- 0 0 R R | -y 0 -700 A= FE AR | o 0 0
it 1,103 416 it 0 0 &t 0 -700 &t 0 0
HiHa—p 0 0 Hia—pn 1,435 14 HiHa—pn 0 0 - 1,370 -110
oK) M- )L 3,209 =259 & O fh | I 3,497 647 O fh | -y 2,920 -890] # o fh |EHa-N 3,570 3,420
it 3,209 -259 it 4,932 661 &t 2,920 -890 it 4,940 3,310
Hia—n 16,517 -3,476 Hia—pn 7,009  -1,045 HHHa—n 21,482 11,985 Hia—pn 5,947 376
wE R | o 77,614  -10,079] ¥ & 3 HEFHO—) 77,614  -10,079 e S i =SB 56,345 12,584 # A | EHa-y 56,345 12,584
it 94,131 13,555 it 84,623 -11,124 it 77,827 24,569 it 62,292 12,960
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